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Instruptions

All questions are to be attempted.

Marks may be deducted for careless or badly ’ T
presented work. ‘ | | TEAC&%YS USE
Answer all questions on the blank sheets - Total Marks
provided. Section A
N QL2&3 |
Start a new page for each section. /18
' Show all your working. . Section B /
: Q4&5 |
\ 121
‘ ' Section C
GOOD LUCK © , Q6,7,8 &9
' / : ) /18
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SECTION A (START A NEW PAGE) MARKS

Question 1:  Use your calculator to evaluate

(1)
4.13+5.46
Write your answer correct to
1) 2 decimal places 2
(i)  the nearest integer 1
Question 2:  Expand and simplify the following
(1) (2m+4)-(m-2) 1
(i1) 3-6(x-6)-2 ' 1
i)  (2y+4)(3y-1) 1
Question 3:  Factorise the following fully.
@ (m-—n)r-—(m—-n)s 1
Gy 9-7° 1
(i) S5x*+6x+1 1.5
(iv)  2pg-pr+6q°-3qr 15
(v) x°+27 1.5
(vi) 1254’ -8p° 1.5
(vi) x*-x*-4x+4 2
2

(viii) x*+6x+9-16y>




SECTION B (START A NEW PAGE)

Question 4:

@

(i)

(ii)

(iv)

v)

(vi)

)

Question 5:

Simplify the following algebraic fractions.

m*+2m—-8
m* -4

(a+b)"-c?
3a+3b-3c

mi-mn 1l-n
x

7’12—]’2 m-n

x-6

x+3

xX-x-6 x*+8x+12

In the formula N =

(1+ r)" ’

find the value of r, correct to 1

significant figure, if N =5000, A =9000 and n = 3.

MARKS




SECTION C (START A NEW PAGE)

Question 6:

Question 7:

Question 8:

Question 9:

Solve the following equations

; x-3 x-1

1 -=——+5

@ 4 12

(i) 3x+1=3x+9
4x -3 4x-1

Giiy ABsm-2=2

Use the quadratic formula to solve the following quadratic
equation.

15-2m-m*=0

Solve the following equations simultaneously.

9x-5y=6
3x-4y=9

Solve the quadratic equation below, using the method of
completing the square. Leave your answer correct to 2

decimal places.

x*+8x+11=0

END OF TASK

MARKS
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